Potencias de 10 (G)

6,857 + 10!

7,926+ 10!

6,796 = 10!

1,56 =10!

3,94 = 10!

6,318 = 10!

9,4+ 10!

8,756 = 10!

1,771 = 10!

2,601 = 10!

Calcule los siguientes cocientes.

8,467 = 10!

9,637 + 10!

0,407 + 10!

3,821 =10"

1,312 = 10!

5,791 = 10!

5,302 = 10!

4,088 = 10!

4,32+ 10!

4,149 = 10!
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Potencias de 10 (G) Respuestas

6,857 = 10!
0,6857
7,926 10!
0,7926
6,796 = 10!
0,6796
1,56+ 10!
0,156
3,94+ 10!
0,394
6,318~ 10!
0,6318
9,4+10!
0,94
8,756+ 10!
0,8756
1,771 = 10!
0,1771
2,601 10!
0,2601

Calcule los siguientes cocientes.

8,467 10!
0,8467
9,637 = 10!
0,9637
0,407 = 10!
0,0407
3,821 + 10!
0,3821
1,312+ 10!
0,1312
5,791+ 10!
0,5791
5,302+ 10!
0,5302
4,088 = 10!
0,4088
4,32+ 10!
0,432
4,149 = 10!
0,4149
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